
Unit 2: Chemical Reactions Station Review

Station #1

Name the Following:

a) NH3 2gy)mc9 Il d) A18r3 .iiurninuln

S
e)b) P4510 +e+rap

dcccSLI).Sd]C
K25 O+ZS&I L-ifr Ac

c) 5207 clistiIfiur ep+oXIcie a± a—
Write the formula: f) cupris oxide Ct.4 C

Station #2

Complete the following name/formula

a) potassium chlorate 1ccl05 d) Fe(Br03) Iron cii) brrntC

b) ti4IV) hypochlorite Sn (ci 0 e) NoHCQ3 çjum kvden ccrb0uijF
I,- 3•

c) sodium phophite Nci3 PD3 f) aluminum hydrogen phosphate b’ cirhon ct
a—

/l

Station #3 A a 1HPOt)

Write names/formulas
ccp1rr (II) sul-PzAc

a) CuSQcSHzO pea rbbyclro* d) HNO4Cc,q) jrhI+rl C cic; J
b) HF hyArDfJ utri C C c Id e) HZCQ3(cq) cayhc ii c d
c) hydrosulfuric acid i-i-s f) sulfuric acid tk.Dt

Station #4

Complete the following chart:

Oxy Anion Name Oxygen Content Acid Name

per ci+e one more per a;cl
normal

— iC ncic1

+-e. oneless -—c citric)

k0 —
two less ou&

How do you name binary acids?
kyAro _—ic

Station #5

Balance the following equations:

a) CaO • 3 C -ì CaC2 + CO

b)3Na2C03 + 2 H3P04-ì Na3PO4 + 3 H2O
+ 3 CO2

c) Name the 5 types of reactions and give general equations
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st-zrHon

Complete the following reactions

With excess oxygen

a) CH4(9)
+ 2 - CtzJca’) +214J) ()

With insufficient oxygen

b) 4 CH4(g) ÷ ( °2(g) + Bi%a_O ta.) 1 Cs ± ac0t)

c) If you were to look at a flame, how could you tell if it is complete combustion? blue fI cime.

d) What evidence would lead you to believe you have incomplete combustion? yellow PIcib’1C
Soot (corI,on

Station #7

Complete the following table/reactions

a) Metal carbonates 3 rne.-+z ) oxicIe t CO.

b) Carbonic acid 4 t C Z

a) Metalnitrate-) hic-bi1 itn4e-

d) Metal hydroxide-) h1c+t DXi’ +

e) What type of reactions are these? in pa s i

Station #8 Cc) t Zt50s

Magnesium is burnt in oxygen to produce X. X is then reacted with water. + l4aOul M1LoH)2

a) Write out both balanced chemical reactions (s)

L) ± — Co)
b) Repeat the same for the element carbon.

CCjfr’ ± H.zCL.n fILCO3 tc%.)
c) bescribe the difference between the reaction of non-metal oxides + water and metal oxides

+ water
hch—rne-fn) OAIJeS ± WcrCr —, mi CLS

iict) oXIc1C ± wLrIe —

Station #9

What is the activity series? How does it work? A ble cf h’r’ a len+S I ptwc H) us

precli ÷ wkcn D rcc,t0i will bcCr

oes it work?What is the halogen series? How d
clcrflCn+ in me -itkle ,

sp)nCC Id3S

Cornplete c-F -l-ke c,Ie,ncn+ s +t 4he r’ cjh+ Th,’ii’

CCt al64 a) Cu( + M9SO4(aq) I 4g salwhons c -4heir s.il±S

-We ion c a4 b) 12(5) + NaCl()
rlerncn+

h)0 ± a) Mg() +

+Ie pr) mw,
Zl(cc -) + fr)5c12 to;.)

c,n
Station #10

so

Are the following aq or 5 in water?

4’ it’
a) NaCI (Qa e)NaNQ3 ‘°‘?‘)sl4
b) Na2504 (09.) f) A9CI Cs)

c) Ag2504 g) 8a504 Is)
d) CaCO3 (s



Station #11

Complete the foIowing:

a) CU(NOJ)2(QQ) + MgC,aq) 3 CLA GIL t M1ND ) ia)

b) 3 BO(OH)2(aq) + Fe2(S04h(aq) 4 3 BctSOq (s’) t Z Fa(oi-113 Cs)

c) Mg(OH)2(S) + 3 M5So + 2 HaO (2)


